. 26,20
. kexrd B

[P R

Limite terrain
{ $
b=
=]
©
=
=
Q9 BALCON |
$209.33 SEJOUR
[0 hrc) $=25.44 m*
=
| _
CHAMBRE 03 8
S=12.50 m* e
hor<d
% BALCON o -
$=03.26 m” 2 w©
CHAMBRE 02 | 8 -
- 1 s=13.96m: & <l
=
CHAMBRE 03 sls
S=13.70 m* ko 8l
9 o
MBRE 02
2oz m 131 70w | W RIS gl |
CUISINE
$=06.89 m* HALL L
120 .| s-0387m E
- E
o
o 176 132 = 8
= ] /’ [l
CHAMBRE 01
§=12.86 m*
—————
™ 261 / 254 —120
HALL
s=1088m:  ~ ’ ’ ’ ’ /
BALCON z
T 1 CHAMBRE 01 9 m*
- - l \ s=1326m°
SEJQURIGUISINE , 37 = v B
o 2640 mt
& 84 p
4 _ o] . f
7T bsiic /
3 =~ A 4
K] @9 L
2 o
© Impngw D =
: ol — ||| EEZE]
El D = =3
3 3 _ \ 1.
[ Z i cll | N SN 2 s
| = i ] il ;2 A FS 55 |14 =
| ; 2 B
e CHAMBRE 03 o [ ¢ N \ 5
i S=1557m* g o — <
\ 3
—
\ @ w w0 o
o \ & 3 et e
of SEJOUR
i <] S=3184m
| \ I
o - 1o T &l
Wil 2
| ~— -
\
9
\ 8| coperec — cuse
| S=12.65m* §=15.90 m* 3|
|
- - basid - == 3
| 4 Dressing | 3
LIRS Al s=wR 31 2
| voldl b <
| 5 3 A N b ¥ pis
|
t i ]
Ih »)sALcoN ] N
|} Fs=04730 m* 5 5
o g L 1 7% =)
— <) SECHOIR
— S s $=05.87 .
— i = BALCON: BALCON
e > s20444me Socsb 5
230 218 L L L
EvD) - 577 B x
B - 1.20 3 ™ 4.08
225 - — 13 120 o - 360
g ~ 823 B * 120 213 - 4.25
358 * s = 468
Echelle : 1/1 ;
° 5
534




